
Extra Credit Study Sheet

D. Slobin, “From ‘Language and Thought’ to 

‘Thinking for Speaking’”

Linguistics 3430

Fall 2007

Due 9/24/07 (worth  up to 14 points)

1. Distinguish the following terms: linguistic diversity, linguistic relativity and linguistic determinism. (1 pt)

2. Why does Slobin propose to replace the pair of terms thought and language with the pair of terms thinking and speaking? (1 pt)

3. Why would someone who wishes to explore the dimension of linguistic relativity stick to grammatical categories (like verb endings) in a given language as opposed to the words of a given language? (1 pt)

4. According to Slobin, what is the difference between Boas’s view of linguistic relativity and the views of von Humboldt and Whorf? (1 pt)

5. Slobin says that “much of grammar doesn’t deal with perceivable reality at all”. What linguistic examples does he use to support this claim? (1 pt)

6. Slobin proposes (p. 76) that “in acquiring a native language, [a] child learns particular ways of thinking for speaking”. How is he investigating this proposal? (1 pt)

7. Look at the two versions of the “frog story” narrative in (3). The first is a literal English translation of a Spanish narrative (given in the original in footnote 6). The second is a version produced by a native English-speaking child. Count up the number of preposition phrases in each version (include ‘particles’ like away). Then count up the number of relative clauses (e.g., which was there) in each version. Report your numbers for both English and Spanish in a table like this:

	English
	Number of prepositions
	Number of relative clauses

	Spanish
	
	


Now answer the following question: if you were Slobin, how would you use these numerical differences to argue that Spanish and English grammars produce different rhetorical styles? (2 pts)

8. In the section on temporal description beginning on p. 79, Slobin uses a term that may be unfamiliar to you: aspect. Aspect refers to the internal temporal constitution of a situation. The major aspectual distinction that languages mark is that between events (like falling down and fixing the furnace), which involve a change over time, and states (like living in Boulder and liking bagels), which don’t involve change. How do each of the four languages in the study mark aspectual distinctions, according to Slobin? (2 pts)

9. Compare the English sentence in (15) with the Spanish sentence in (16). What does Slobin have to say about the ways in which two narratives differ? (1 pt)

10. Slobin claims that narratives in English tend to be more dynamic, while those in Spanish tend to be more static. What is his evidence for this claim? (1 pt)

11. Describe the significance of the following translation (from English to French) for Slobin’s overall point about the difference between Romance languages like French and Spanish and Germanic languages like English (2 pts):

Passage from The Hobbit:

He still wandered on, out of the little high valley, over its edge, and down the slopes beyond. 

French translation:

Il continua d’avancer au hasard, sortit du haut vallon, en franchit le bord et descendit la pente au-delà. 

“He continued to advance haphazardly, exited from the high small valley, crossed the edge of it, and descended the slope beyond.”

